


3x+4 <15 - x & UFA 7| = A2

Lo

@ 2 @ 371 @ 4 71



UAE-F2A 3x -5 > 4 2] 9

3.



Al o2x—4<-x+59 =2

@ x<3 ® x>3

@ x>3

® x=3



2712000 991 AREE H7} (4 ) o] 20% £ Eelsto] ol A7}e]
15% o4 olele P o gt 474 ) o] WS Fam?

O A>2875(Y) @ A22880(8) O A>2885(Y)

@ A>2890(¢) ® A>2895(¢)



re

%u}

02x+4y =03
A

o

[<] = 3 2 5
Z.X“F gy—_
A AL?
2x+4y=3
@ y
9x + 8y =-2
2x+ 40y =3
© y
9x + 8y =-24
2x+40y =3
® y

9x +8y=-2

& 7] 9lstel A%

i
o
i
fu
5o
sy

2x+4y=3
@ Y
12x 4+ 6y = -24
2x+4y =3
@ Y
9x + 8y = -24



oA Al I x+3y

5

=03x-0.2y—-1 9] afl=?

@ x=2,y=-1

@ x=-2,y=-1



8.

_ . N
FAF,yYF250a, yo28=xo 16 = H
oluf, 2x +y 9] 27

@1 @ 2 ® 3 @ 4



9. o= I 2 It 2R AP ARY

yl\

=~ _~

O x+y=4 @ x+y=2 @ 2x+y=4

@ x+2y=4 ® x-y=-4



@ Al Aeit o o Hstel 2540 L <0< 10 ReHES 0 9

Ehs

T 1239

fijo

@ 1 @ 3 ® 5 o



mlo
of
2
o)
2
2
|
9
iy
117
=)
Mo
>
©
i
Mo
N
N,
i)
)
)
Mo
Y
o

@ 6x2x [ |= 2443 O (2x)2x[  |=8x®
© 16x°+ I:]: 4x8 ® 249+ x"+ I:]: X

® 0,0 ® 9,06 ® O 0
ON@NC) ® 6,®



12. & ¥ 4 G, 09 A

2~
e

9]

St

29

@ (2x)% x 3xy2

@1 @ 2




13. 54 xta<4(r-1) & EW x> 30tk o]w, q o g Antel
77

@1 @ 2 @ 3 @ 4 ® 5



14. ay=2x+4,bx-3y=1°f thoto] AFFAAS] 547} (1, 2) € o,
a+b o FH2?

® -5 @ -2 ® 5 @ 7 ® 10



15.

S f(x) = axd W, f(2) = 501tk £(3) 2] 722

13 15
)

@7 ® — @ 8



16. 2ARE f(x) = —x + 200 totd f(a) = 5% o, 0 9] 7H22

@D -1 @ -2 ® -3 @ -4 ® -5



oFx o7 il

i

4y =—4x+20, y=2x-6 2] 1

Q73
22 Yol

=
e

17.

=
1

@ 3

o |

e~

D 2



18. y=-x-1°] 2z} Bt dAdr y=ax+ b5 yF FFL
2

@ (0, 3) © (2.1 © (-1, 4)
® (3, 0) @ (5 2) @ (1, 2)
@ A= §iot. @ 1A ® 271



19.

o BAE A v, 4 a 9] 3L

x—y =029 1=}

@ 3 B 4

=
= 24

dx-y=a,x+2y=14-a



20. 3 9] do| A2 o 527} 1, 3 €] D] 2] o] 5247} 3 L uf, 814500
o] 91o] A7 o] S48 ok (T, x, y = x>y 9 A%

@1 @ 3 ®9 @ 7 ® 2



